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SPPI 6A Calculation 
  
           
            Number of children ages 3, 4, and 5 with IEPs attending a regular 
               early childhood program and receiving the majority of special   
        education and related services in the regular early childhood program 
                                                             
                                                           Divided by 
                  
                        Total number of children ages 3, 4, and 5 with IEPs 

 
                                                         Multiplied by         
 
                                                                 100     
  

                                                                                      (Data reported in EDFacts File C089) 
 

   
 

SPPI 6A Calculation Example 
 

 

 

 

 

 

              

 
 
 
 
 
 
 

Educational Environments # 
a. Attending a regular early childhood program and receiving a majority of special 

education and related services in the regular early childhood program 39 
b. Attending a special education program (not in any regular early childhood 

program) in a separate special education class, separate school, or residential 
facility 15 

c. Receiving special education and related services in the home (not in a regular 
early childhood program) 3 

d. Attending a regular early childhood program and receiving a majority of special 
education and related services in some other location 21 

e. Attending neither the regular early childhood program nor special education 
program, and receiving the majority of special education and related services in 
the service provider location  10 

Receiving a Majority of Services in a Regular Early Childhood Program Calculation 

                                                                             Percentage = [a / (a + b + c + d + e)] x 100 
           = [39 / (39 + 15 + 3 + 21 + 10)] x 100 
           = (39 / 88) x 100  
           = .44 x 100 
           = 44% 
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